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2N
X ZH -
L= B

el

= _ — d =
HH - B (3H) - KA - BYS 0l &t o il Bl RE2
306 ¢ 2 104,376 173,866 A 69,490
0= 104,376 173,866 A 69,490
OQnE 2
0,000 *5H st 1) 62,500
Os&1u = 41,876
2 & ALY 2,396,046 2,481,556 A 85,510
=) 1,042,322
Al 1,353,724
0= 2,396,046 2,481,556 A 85,510
=) 1,042,322
Al 1,353,724
=03 2,396,046 2,481,556 A 85,510
OcsUM S4dAg (LSSt 400,000
< 120,000
Al 280,000
OSEUM SELAY (S 130,000
< 39,000
Al 91,000
Ozaay sngal X 168,056
< 74,692
Al 93,364
Ox-3&uw 24 1,422,180
< 711,090
Al 711,090
OE4dstn 74,000
< 37,000
Al 37,000
Otxdse 65,010
< 19,500
Al 45,510
OJI=g 1 136,800
< 41,040
Al 95,760
BMSIST Al Dl 2= 336,140 259,640 76,500
< 24,500
Al 311,640
HMSISTAEY 279,640 259,640 20,000
2 Et2 HH| 92,740 98,740 A 6,000
AtS 2tel ] 82,740 80,740 2,000
OB Mst s 8.200
OmMsE 3,000
OB Hdss < 70,0003 x 11 +23] 1,540
O&g= O3t 5,000,000& =43 20,000
OBMDSE T2 3,000
OBduws T2 = M 3,000
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WENSI
BASEA 7S
SIS Al JlgRE (S &2)
= (o
SN EHD B (3H) - MEAY - BAS %@ﬁ HD=2
201 Bt 12,500 0 12,500
== 12,500
03 A2 G| 12,500 0 12,500
Ofsgrol=2 wMstgs ererg =IJF X & 2,500
=} 2,500
OYRA BMstEs =H SHOHE 10,000
= 10,000
301 et A= 44,000 0 44,000
= 12,000
Al 32,000
11 JIEtE A2 44,000 0 44,000
OHgA do2oluns T2 X 2ASE
25,000 & *80A| 2F* 1500 & 30,000
== 5,000
Al 25,000
OdNet=s: BMNs 435 XNIAY A
25,000& *80A| 2F*7IH 14,000
& 7,000
Al 7,000
Ol XXl Jler&4 3 41,000 70,500 A 29,500
XXAIEE 29 41,000 70,500 A 29,500
201 et d| 2,000 2,000 0
01 AF2 2t 2| bl 2,000 2,000 0
OXXIAIHE Z2 3 29| 2,000
202 04| 2,000 2,000 0
01 2Ll 2,000 2,000 0
OXXIALEE 2K 4 H] 2,000
301 et A= 21,000 20,500 500
09 HAIAHI BEAZ 11,000 11,000 0
OXXIAISE T2 )2 2 ZHZ X A3
20,000 50 *8IH A 8,000
Od=ZF0I XX eretg =2 50,000 »60H 3,000
11 JIEtE A= 10,000 9,500 500
OXXIAEE T2 2ASE 10,000
405 XHAFFEIEHI 16,000 16,000 0
01 AL 2B F S| 16,000 16,000 0
OXXAEY 2572 2,000,000 *8IH 16,000
NS (S DESEAIY) 330,000 330,000 0
MNSIAIE X (SDEEAY) 330,000 330,000 0
306 542 330,000 330,000 0
o1 s 32 330,000 330,000 0
OFSt&SHTHE EH(ASDESEAIY) 330,000




SN DSUSD
=R R

chelr MEHS 34

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
s 2438 3,945,708 3,021,441 924,267
X 300,000
J| 227,562
< 234,191
Al 3,183,955
HdEHs =4 542,756 491,978 50,778
J| 227,562
< 50,191
Al 265,003
MEHsNY 2I(EX 29,600 29,600 0
< 8,880
Al 20,720
307 21201 A 29,600 29,600 0
< 8,880
Al 20,720
02 It S AHE L 29,600 29,600 0
Odatrsns 29 29,600
< 8,880
Al 20,720
MEHSXAZA BHXAS (EX) 146,448 145,728 720
J| 73,224
Al 73,224
307 glz2+ol & 146,448 145,728 720
J| 73,224
Al 73,224
02 It M AMHEE 146,448 145,728 720
OMexs Lt X=X Xl 146,448
J| 73,224
Al 73,224
HEA H=s2s XNIAGE(EX) 146,448 121,440 25,008
J| 73,224
Al 73,224
307 21201 A 146,448 121,440 25,008
J| 73,224
Al 73,224
02 LAFLAFEX 146,448 121,440 25,008
onza EMsXZX BHXI 146,448
J| 73,224
Al 73,224
MEHETwsY 29 5,000 5,000 0
301 gt d= 5,000 5,000 0
1MIIEBELSS 5,000 5,000 0
OstHEE HMEzna 24
500,000& x2H 501 & 5,000
MEHITRY 2H(EX 34,760 20,210 14,550




SN DEHSH
HH: A 2435
el MENS S4 (ol @)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 6,648
Al 28,112
301 LBt A= 34,760 20,210 14,550
= 6,648
Al 28,112
11 JIEtE2 A= 34,760 20,210 14,550
OZHNEXN 2Y 34,760
& 6,648
Al 28,112
SAE E3PA 2H(BX) 8,400 8,400 0
& 2,470
Al 5,930
307 QI2t0| ™ 8,400 8,400 0
& 2,470
Al 5,930
02 QI2tAMAIE E =X 8,400 8,400 0
ORad =320 249 8,400
= 2,470
Al 5,930
MEHE =50 21O(8BX) 44,000 44,000 0
= 13,200
Al 30,800
307 2Iz2t0| & 44,000 44,000 0
= 13,200
Al 30,800
02 QI AAIE E X 44,000 44,000 0
OMEI=s =52 =220 44,000
= 13,200
Al 30,800
ALX AXOISAAND(EX) 128,100 117,600 10,500
J| 81,114
& 18,993
Al 27,993
301 et A= 128,100 117,600 10,500
J| 81,114
& 18,993
Al 27,993
01 Al B & A 46 2 128,100 117,600 10,500
O AZTX2AE 0l82H AFY 96,600
Jl 67,614
== 14,493
Al 14,493
Ostd s0F &85 AFY 31,500
J| 13,500
= 4,500
Al 13,500
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2N nEMs
3 s 243

S HMSHAM HE ¥ X (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OAMEI HOE=ZUSI 6,000
A& 203 3,000 0 3,000
307 QI2t0| & 3,000 0 3,000
02 QI2ZtAAMAIE E =X 3,000 0 3,000
OAEI 3203 3,000
AZED| BHESIE 3 7,000 7,000 0
307 QI2t0| ™ 7,000 7,000 0
02 DI2HE MAIEE X 7,000 7,000 0
OAIEI BHESIEHHS 7,000
AEI =3 6,000 6,000 0
307 QI2t0| M 6,000 6,000 0
02 DIZtZAAMEE X 6,000 6,000 0
OAMEI =2 U3 6,000
A OF O3 6,000 6,000 0
307 212t01 & 6,000 6,000 0
02 DI2ZtZ AAMEE X 6,000 6,000 0
OAIED or=2th = 6,000
AED E20U 3 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
02 DI2HEAMAIEE X 6,000 6,000 0
OAEI 53203 6,000
ANEI AU S 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
02 DI2HE MAIEE X 5,000 5,000 0
OHM133 AIED| XpAHH O3 5,000
A& S32U 3 10,000 10,000 0
307 212t01 & 10,000 10,000 0
02 DIZtZAAMEE X 10,000 10,000 0
OAMEI 57203 10,000
AED 8= &0 15,000 15,000 0
307 212t01 & 15,000 15,000 0
02 DI2ZtZ AAMEE X 15,000 15,000 0
OHM93l AMFEI d= E20H3 15,000
AZED| BHAE=U 3 9,000 9,000 0
307 QI2t0| M 9,000 9,000 0
02 DI2HEAMAIEE X 9,000 9,000 0
OAIED| EHAZCHS 9,000




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
AEI HILIAUE 5,000 0 5,000
307 2Iz2t0| A 5,000 0 5,000
02 DIZHEAAIRE E X 5,000 0 5,000
OAHEI HILIADE 5,000
=HRA A MU 5,000 5,000 0]
307 2iz2tol A 5,000 5,000 0
02 QIZFA AAIE E X 5,000 5,000 0
020168 & Al &ZOH2 M= 5,000
M= B3 80,000 80,000 0
307 QI2t0| & 80,000 80,000 0
02 Q2B AMAIE E =X 80,000 80,000 0
OS2SM=2&2)] 8= BUR A=A S 80,000
CHet&OoHe SRS AU H2HMHAEZ2US 30,000 30,000 0
307 2I2t0| & 30,000 30,000 0
02 QI2tAMAIE E X 30,000 30,000 0
OHM193] CHSH&OHC SRS &l &=2A0HQ!
EA 3 30,000
OLAIOF JHIOIEES =AU 3 100,000 0 100,000
307 QI2t0| ™ 100,000 0 100,000
02 AI2AtAAMAIE E =X 100,000 0 100,000
OHM73 OLAIOIHIOIEEZE &4 U3 100,000
MEY X FBAUS 15,000 0 15,000
307 212t0| & 15,000 0 15,000
02 QIZHBAAIE 2 X 15,000 0 15,000
02016 Y3AIEI M2 HH2EA MEUS 15,000
AEHAHINE 89 314,538 296,127 18,411
= 24,000
Al 290,538
XA E(2A) 29 XN (EX) 314,538 296,127 18,411
== 24,000
Al 290,538
301 Bt A= 314,538 296,127 18,411
== 24,000
Al 290,538
VU= - 2ESESEA2 314,538 296, 127 18,411
OzzAIB(=2A)2d 314,538
= 24,000
Al 290,538
HEI|BLAIE &= 1,813,014 1,070,436 742 578
N 300,000




2N nEMs
3 s 243

EHel: MSFIIBAIE &= (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 760,000
Al 1,353,014
MEAd =4 L HH| 370,000 267,000 103,000
401 Al Bl 28I 205,000 130,000 75,000
01 A& HI 204,406 128,866 75,540
O33HSAE FHI 35,000,000& *98.92% 34,622
OntSetel MSAE Edl
20,000,000& *98.92% 19,784
Oontsc? M= &X 100,000
ORAOITZE HIZEX &AA HAI ALY 50,000
03 AIE 2 0H bl 594 1,134 A 540
OZ23MsAE EHl 35,000,000& *1.08% 378
Ontsctel MsAIE Fdl 20,000,000 x1.08% 216
402 RIZEX20l A 165,000 137,000 28,000
01 It 2 AL B X 165,000 137,000 28,000
OAOH TCHalOtES MEAld &X 10,000
Oz 24 HM&HI7 4X 10,000
O4ts 2RO & M7 4X 10,000
O&ts S0 M= &X 10,000
O4ts dEZ0t2 M7 &X 10,000
O&ts HENES M&EHIIZ & 10,000
OO0l HE0t2 M7 &X 10,000
ool srdOrE MEII- & 10,000
O=Z SUOIIE X7 &X 10,000
O&&E3s HetIl+ &X 4,000
Ogw ZA0I2 M2 AL 4 6,000
Oguwss M&HI7 &X 6,000
OWES(SFHOIS) MII7 &X 6,000
O&w9s MHI|7 X (HDra 12 22-11) 3,000
OESOHIE M&Edl+ &X 5,000
OLE18 M&EHII7 &X 10,000
O&s28 H&tI+ &X 10,000
O&s318 M7 &X 5,000
OEs44s M+ &X 10,000
ORIIXOIE M7 &X 10,000
MEAE =48 2 HH(2X) 1,060,000 0 1,060,000
Xl 300,000
< 160,000
Al 600,000
401 Al&HI & 28I 1,040,000 0 1,040,000
Xl 300,000
< 140,000
Al 600,000
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e MSIIAE &5 (cho &)
2 S 4
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
01 Al&H| 1,033,268 0 1,033,268
OSUMEAE =&AL
1,000,000,000& *99.37% 993,700
Xl 300,000
< 100,000
Al 593,700
O2EH ISELAY 20,000, 000& *98.92% 19,784
o 19,784
O22 O ANLANLANY(ZNE S)
20,000, 000& *98.92% 19,784
o=} 19,784
03 Al 21| 6,732 0 6,732
O=SUIMESAE XA
1,000,000, 000& *0.63% 6,300
OB NSLY 2 14 A
40,000,000 *1.08% 432
o 432
402 SI2vXHE0| ™ 20,000 0 20,000
= 20,000
01 A XSAIEE =X 20,000 0 20,000
OMLD MSAE HAAMS(HILIAZZTHINA) 20,000
= 20,000
MEAIEE A2 359,464 475,886 N 116,422
101 124 4| 60,760 60, 182 578
04 JI2ZtHIZ22NEES 60,760 60, 182 578
OolBa8EE 29 ol 22,986
eIy 61,500& *300 *1H 18,450
S5 61,500& x40 2,460
INEd = 7,688 x15A| 2F*1. 5 x12& 2,076
OgZ2M=3d Ex=HA
48 240) %0.27/100m 57,623 M 23| 15,011
OFg2M=3d XCIHD| 5,517
OZ2Z2HMEAIES ME&HY 48,2402 x10H ~43] 1,930
O2sM=sHAEHF=Y E&xHAH
48,240 10 33| 1,448
O2SM=sHAEHFY &C 2D
60,540 «0.27/100m* *7,000 M x23| 2,289
OZZTASTA B4 A%
48,240 60 2,895
ONdd=Z2dHE & MAH
48,240& 15 63| 4,342
O=gzZ2Hs24 a2 E2xXHA
48, 240& 15X 63| 4,342
201 YEt2 Ayl 242,214 231,714 10,500
01 AP 22| H| 37,800 36,800 1,000
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2N nEMs
3 s 243

ol MSIIPAIE &35 (298 R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
ONMSAIE ¥ A& 7,000
206 M = Hl 11,190 11,690 A 500
01 M= bl 11,190 11,690 A 500
OFgd=2xMsS3d , 2N HEH, et E248 D]
& Mz bl 11,190
HIE &= 1000W 100,000& =154 1,500
Ml E28 = 2500 30,000& *507H 1,500
HIE &= 400W 50,000& *30H4 1,500
HEoHA Il 250W 30,000& *307H 900
M ECHAE I 400W 50,000& *20H 1,000
HEoFAE Il 1000W 100,000& =104 1,000
JIEF & D] XFTH 1,000
Sl & 15,0003 *30E 33| 1,350
as, AN 12,000& *2E x15E x4 3] 1,440
307 212t0| & 18,300 18,300 0
05 A2t &= 18,300 18,300 0
OFgdz2xMsa, S22 , 23XMsHH, E
AINE, HSHPE, ARYHE 201HY 8 2,000
&
OZEFTHSS 22 S22 29
175,000& =20 12& 4,200
OZSMESHEH S 2ANES 84
175,000& x 1CH=12& 2,100
401 Al HIL 201 20,000 65,000 A 45,000
01 A& HI 20,000 65,000 AN 45,000
OZe2sd 0t &L SSANE 2 2 g
=3 At 10,000,000& #2204 A~ 20,000
HeldlnEeEsd 2F 22 23,550 23,550 0
201 L2 A Y| 6,700 6,700 0
01 At 22/ 4,000 4,000 0
ONE0l nEss3 AIR2t2lyl 2,000
Og2J18 2228 7¢ 1,500
OgasS A4 0/=(DVD) 100, 000& *5JH 500
02 3524t 2,700 2,700 0
OelolEs& SHOIX |2 1,200
Oelolnssd AIE&EH |l 1,500
301 dEtEAZ 8,400 8,400 0
09 HAtAHIEA = 900 900 0
ONJASAMA RS N 20
50,000& *9H x23] 900
11 IIEtE &2 7,500 7,500 0




2N nEMs
3 s 243

Sl MSIIBAE =B (el Hg)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXESAR BEH ¥ S|
15,0003 x2H 250 7,500
307 glz2tol & 3,450 3,450 0
02 IZtE M AHE L 2,250 2,250 0
OEllnEZd ANASAA 2828 72¢ 2,250
05 RIZt2IEt = 1,200 1,200 0
ONROIDNESY 201 8
100,000& »12& 1,200
401 Al HIZ 2018 5,000 5,000 0
01 A& HI 5,000 5,000 0
O0ellnssd 02 n=Ed o3 B
5,000,000& » 14! 5,000
HZ2F A 128,758 132,321 A 3,563
Jl=234l 50,960 55,660 A4,700
JlE&l 50,960 55,660 A4,700
201 ¢et24] 28,060 32,760 A4,700
01 At 22l 28,060 32,760 24,700
Oget=gHl 22,080
Oz &l 3,600
OsDBA MAAS HALY
70,000& x10&= * 12 700
OusLMIAJS A2 70,0002 «12H *23] 1,680
202 o4dl 18,700 18,700 0
01 = LH o4 1 18,700 18,700 0
OusH=sl =0 18,700
203 ¥R =&l 4,200 4,200 0
04 FEANSEH =L 4,200 4,200 0
ORN2EYRZ=AHI 350,000& »12& 4,200
el 2 gl 77,798 76,661 1,137
ol dd (M) 77,798 76,661 1,137
101 @124l 77,798 76,661 1,137
03 RIHAZ 2N+ 77,798 76,661 1,137
Os&d0lst& (2,104 012H) 77,798
== 1,162,270 »2H 123 27,895
=g 1,732,270& 2% x200% 6,930
d2+g 1,732,270% x2% x80% 2,772
M= chetdl 1,732,270& 2% x250% 8,662
FE=< () 40,0003 x2H 128 960
=== (JIEH 20,0003 x2H 128 480
ExYRE 90,000& x2H « 122 2,160
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M DM
Ha: #HY LYY
Sl ol ) CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
i 70,0003 x2H 128 1,680
Z A S A 160,000 x2H «12& 3,840
JHAHIE =l 110,000 x2H 123 2,640
A= 140,000 »2H «12& 3,360
ZEF Ol 1,732,270 x2H x120% 4,158
AN2H2l=E  7,670% *1.5«10AI 2t+2H 128 2,762
s 61,3203 *1.5+x4L x2H x 10 7,359
Ot E A 61,320 x2H 15! 1,840
o=l 150,000& »2H 300
U 85,784 594,000 A 508,216
85,784 594,000 A 508,216
85,784 594,000 A 508,216
2 S0l A4t & 85,784 144,000 A58,216
QEEXL SO0l X4 Et 85,784 0 85,784
Zs3Ms2 A Ol XA 2H(2%) 85,784




